1. x7F-1,0, 1, 25 st o, 54 3(x-2) = -39 Sl &

» E:
> He: x=1

Fotoat.

B

x=-1¢ o,
3x(-1-2)=-9=#-3(AR)

k] Fohe s 1 = 101tk

x=0% ™ 3x (0-2) = -6 # -3(HA)
x=19 9 3x (1-2) =-3(3)
x=29 1 3x(2-2)=0%-3(ARA)




o

= 3
WA 0.2(x-3)+0.9 = 0.3x+0.2 & SHE x =m , FF4] Zx+3 _

%<x—1> Ol S E x =n o2t & W], mn 9] G- Fotoiet.
> &
|> HED mn= -8

0.2(x-3)+0.9=0.3x+ 0.2
2(x—=3)+9=3x+2
2x—-6+9=3x+2

—x=-1

x=1 .. m=1
3 1

— — — _1
4x+3 3(x )

Ix+36=4(x-1)
Ix+36=4x—-4
5x = —40

x=-8 .. n=-8

wmn=1x(-8)=-8




-3x-12  2(4x-2)
3 4

ok
o,
>,

+3 9] 512 Faholat,

i

vV V
0

it

=

I

|

[\

B

4x — 2

—x—4 = 3

X 5 aF
—x—-4=2x-1+3
-3x=6

Sox=-2




4. oe 334

ofat.

filo
it

gx— 1=04(x-2)+28

=
H -

>
. 120
Dgg.x:E

B

gx ~1=04(x-2)
ol 40 & H5HH
35x— 40 = 16(x — 2) + 112
35x — 40 = 16x — 32 + 112

+ 2.8

19x = 80 + 40

19x = 120
120

b I =

19




T A4 2(3x-2) = -8 (x - 3),

0.3(x+5) =-0.1(x—3) + 2 ] ol & ZtZ} L5t 11 F& Allsto]
2},

> CF

> He: 4

B ~
2(3x-2)=-8(x-3)

6x—-4=-8x+24

14x = 28

x=2

03(x+5)=-01(x-3)+2
3(x+5)=-(x—3)+20
3x+15=—-x+3+20

4x =8

x=2

WakA 242 = 4 0|},




a(6-1)+15=-3-7
b5a + 15 = -10
5a=-10-15
b5a = —25

SLa=-5
2.5x+a=18x-220°f a h4lo] -5 &
25x-5=18x-22
25x — 50 = 18x — 22
25x — 18x = —22 + 50
Tx =28

Lx=4

a(2x—1)+5x = —x-7 9 |7} 3 o] BE x ThAlof 3 & T

o]
H

&

S
s

.




7.

1 _
ax—2=—gx+4 2 o7k -2 A o, = a of g7

@—; @ -3 ® 0 @ 3

B

N

1 _
ax—2:—§x+4 o x=-2 & HYstHA

1
ax(—2)—2:—§x(—2)+4
—2a-2=1+4

7
—2 = 7, = —=
a a 2




2 1
‘ﬂ'@’i}g@x—i—l)—i—ﬁ:ix— 3 = &ofzh
> E
> Hg: x= -2

9
2 1 2x+5
§(2x+1 "‘6—5}6— 3

FHol 6= &
4(2x+1)+36=3x—-2(2x+5)
8x+4+ 36 =3x—4x-10
9x = =50

50

..X:—g




0.2(x+3)-5=0.3x—0.5(2 - 3x)
ol 102 Fotd
2(x+3)—-50=3x-5(2-3x)
2x+6—-50 = 3x— 10 + 15x
2x —44 = 18x - 10
—16x =34

17

SoX =

8




